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1
1.1
sample2
1.1.1
[ 9.81]
1.1.2
Ae
mv
Cc
Ae
v =0.45
1.1.3
@
e
)
1.2
(€)) N 6
@
No
1
2
3
4
5
6
Cv
Y q0
No | nsm) Ce Cs /m) | a
1 14.400 1.0000 0.1000 0.0 1.00
2 2.300 1.0000 | 0.1000 0.0 1.00
3 5.200 1.0000 0.1000 0.0 1.00
4 8.000 1.0000 0.1000 0.0 1.00

FORUMS8




Cv
NO | chrmy te Cs (kN/mgg a
5 7.200 | 1.0000 | 0.1000 0.0 1.00
6 6.400 | 1.0000 | 0.1000 0.0 1.00
* Cv a
Ch=a Cv

Ch

FORUMS8



® ( 2 m
1 2 3 4 5 6
-50.000 |  1.000 |  4.000 | 2.000 | 5.000 | 2.000 |  4.000
110.000 |  1.000 |  4.000 |  2.000 |  5.000 | 2.000 |  4.000

FORUMS8




(4) e logP

P :
e

[1]

1.75

(KN/m?)

100

5

6

7

10.000

20.000

40.000

80.000

100.000

200.000

500.000

2.570

2.500

2.480

2.400

2.200

2.100

1.700

[2]

100

5

6

7

10.000

20.000

40.000

80.000

100.000

200.000

500.000

4.640

4.500

4.300

4.200

3.800

2.800

2.200

FORUMS8



[ 3]
2.1
2.05
2
1.95
1.9 \
1.85
v 1.8
1.75 \
1.7 \
1.65 \
1.6
1.55
1.5
10 100
P
i 1 2 3 4 5 6 7
P 10.000 20.000 40.000 80.000 | 100.000 | 200.000 | 500.000
e 2.100 2.000 1.990 1.900 1.800 1.600 1.500
[ 4] B_K.Hough ( (N=10 30))
0.57
0.565
0.56
0.555
0.55
0.545
0.54
0.535
0.53
0.525
0.52
“0.515
0.51
0.505
0.5
0.495
0.49
0.485
0.48
0.475
0.47
0.465
0.46
100 1,000
p
i 1 2 3 4 5 6 7 8 9
P 20.000 30.000 50.000 75.000 | 100.000 | 200.000 | 300.000 | 400.000 | 500.000
e 0.575 0.570 0.560 0.555 0.550 0.540 0.530 0.525 0.520
i 10 11 12 13 14
P 750.000 | 1000.000 | 2000.000 | 3000.000 | 5000.000
e 0.510 0.500 0.480 0.470 0.460

FORUMS8




100

5

6

7

10.000

20.000

40.000

80.000

100.000

200.000

500.000

1.350

1.330

1.300

1.290

1.250

1.200

0.800

[ 6]

1.6

1.581

1.561

1.541

1.521
1.5

1.481

1.46
) ]
1.44

1.42

1.4

1.381

1.36
1.34

1.32

1.3
10

100

5

6

7

10.000

20.000

40.000

80.000

100.000

200.000

500.000

1.600

1.550

1.520

1.500

1.480

1.350

1.300

FORUMS8



(5) logmv 1logP
P : (kN/m?)
mv : (m?/kN)
[ 1]
i 1
P 10.000
mv 0.0008530
[2]
i 1
P 10.000
mv 0.0017300
[3]
i 1
P 10.000
mv 0.0007210
[ 5]
i 1
P 10.000
mv 0.0004440
[ 6]
i 1
P 10.000
mv 0.0004230
(6) logCv logP
P : (kN/m?)
Cv : (cm’/day)
[1]
i 1
P 10.000
Cv 86.4
[2]
i 1
P 10.000
Cv 43.2
[ 3]
i 1
P 10.000
Cv 171.9

FORUMS8



[ 5]
i 1
P 10.000
cv 86.4
[ 6]
i 1
P 10.000
cv 259.2

FORUMS8




1.3
(@) 5
@)
[ 1]
N/
1 2 L
No. (m (m) ) (m
-30.000 | 10.000 | 0.000 | 50.000| — | ——
-20.000 | 100.000 | 50.000 | 50.000| —— | ——
3 80.000 | 10.000 | 50.000| 0.000 | — | ——
[ 2]
(KN/m)
1 2 L
No. (W) (m ) (m
1 | -20.000 | 10.000| 0.000 | 50.000| — | ——
2 | -10.000 | 80.000| 50.000| 50.000| — | —
3 70.000 | 10.000 | 50.000| 0.000| — | ——
[ 3]
(KN/m)
L
1 2
No. (m) (m ) (m
1| -10.000 | 10.000| 0.000 | 50.000| — | —
2 0.000 | 60.000| 50.000| 50.000| — | —

FORUMS8



- 10 -

(kN/m?)
L
(m (m ! 2 1 () ™
60.000 10.000 50.000 0.000 —_— —_—
I~
I —
1 D
[ 4]
(kN/m?)
L
(m) (m) ! 2 1y |
0.000 10.000 0.000 50.000 —_— —_—
10.000 40.000 50.000 50.000 —_— —_—
50.000 10.000 50.000 0.000 _— _—
1 P\T
| i
1 —
[ 5]
(kN/m?)
L
(m (m) ! 2 1 () (m

10.000 10.000 0.000 50.000 | — E—

20.000 20.000 50.000 50.000 | — E—

40.000 10.000 50.000 0.000 | — —

FORUMS8
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1

FORUMS8
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1.4

No.

(m

30.000

FORUMS8
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- 14 -

1.5.2
€Y)
0.000 0.000
-50.000 | 110.000
@
[ 1]
1.000 1.000
[ 2]
5.000 5.000
[ 31
7.000 7.000
[ 4]
12.000 12.000
[ 51
14.000 14.000
[ 61
18.000 18.000
®
0.000 0.000

FORUMS8




- 15 -

1.6

[P*+ P*/2] mv
[V P™*(P"+ P")] Cv
[ 1

FORUMS8




- 16 -

2
2.1
2.1.1 1
Lx = 30.000 (m)
@
P:
No. :
(m
Y (kN/m*)
PO (kN/m?)
P
No H y >YyH y H/2 PO
(m (kN/m°) (kN/nr) (kN/m) (kN/nr) 1 2 3 4 5
(KN/m?) (kN/m?) (kN/m?) (kN/m?) (kN/m?)
1 1.000 | 14.400 | 14.400 7.200 7.200 50.000 100.000 | 150.000 | 200.000 | 249.999
2 4.000 2.300 | 23.600 4.600 19.000 49.997 99.990 149.976 | 199.937 | 249.736
3 2.000 5.200 | 34.000 5.200 28.800 49.972 99.922 149.815 | 199.519 | 248.167
4 5.000 8.000 | 74.000 20.000 54.000 49.893 99.699 149.295 | 198.240 | 244.194
5 2.000 7.200 | 88.400 7.200 81.200 49.734 99.259 148.297 | 195.943 | 238.378
6 4.000 6.400 | 114.000 | 12.800 101.200 | 49.519 98.676 147.016 | 193.184 | 232.448

FORUMS8



- 17 -

@) e
el — el
S = ———— «H @ e e e e ( c0 > cl)
1 + eo
el PO q0
el PO+ P
1
e0 — el
No. H(m) e0 el e0-el 1 + eo (m
1 1.000 2.5700 .4387 0.1313 0.0368 0.037
2 4.000 4.5104 .2213 0.2890 0.0524 0.210
3 2.000 1.9947 .9020 0.0927 0.0310 0.062
4 5.000 0.5591 .5494 0.0096 0.0062 0.031
5 2.000 1.2873 .2306 0.0568 0.0248 0.050
6 4.000 1.4778 .4031 0.0747 0.0302 0.121
2SS 0.510 m
2
el — el
No. H(m) e0 el e0-el 1 + eo m
1 1.000 2.5700 .1900 0.3800 0.1065 0.106
2 4.000 4.5104 .5492 0.9612 0.1744 0.698
2.000 1.9947 L7271 0.2676 0.0894 0.179
4 5.000 0.5591 .5438 0.0153 0.0098 0.049
5 2.000 1.2873 .2074 0.0799 0.0349 0.070
6 4.000 1.4778 .3501 0.1276 0.0515 0.206
2SS 1.308 m
3
e0 — el
No. H(m) e0 el e0-el 1 + eo (m
1 1.000 2.5700 .1347 0.4353 0.1219 0.122
2 4.000 4.5104 .0432 1.4672 0.2663 1.065
3 2.000 1.9947 .6326 0.3621 0.1209 0.242
4 5.000 0.5591 .5396 0.0195 0.0125 0.062
5 2.000 1.2873 .1399 0.1474 0.0644 0.129
6 4.000 1.4778 .3382 0.1395 0.0563 0.225
2SS 1.845m

FORUMS8




- 18 -

4
el — el
No. H(m) e0 el e0-el 1 + eo m
1 1.000 2.5700 2.0846 0.4854 0.1360 0.136
2 4.000 4.5104 2.7408 1.7696 0.3211 1.285
3 2.000 1.9947 1.5855 0.4092 0.1366 0.273
4 5.000 0.5591 0.5343 0.0248 0.0159 0.079
2.000 1.2873 1.0576 0.2297 0.1004 0.201
6 4.000 1.4778 1.3289 0.1489 0.0601 0.240
zS 2.214 m
5
e0 — el
No. H(m) e0 el e0-el 1+ eo (m)
1 1.000 2.5700 1.9902 0.5798 0.1624 0.162
2 4.000 4.5104 2.6066 1.9038 0.3455 1.382
3 2.000 1.9947 1.5645 0.4303 0.1437 0.287
4 5.000 0.5591 0.5301 0.0289 0.0185 0.093
5 2.000 1.2873 0.9954 0.2919 0.1276 0.255
6 4.000 1.4778 1.3221 0.1557 0.0628 0.251
>S 2431 m
(3)mv
S =mv ( PO + H
mv P" + AP" PO AP P
p* PO q0
1
No. H(m) mv(m’/kN) PO+A P-P* (kN/m?) (m
1 1.000 0.00085 50.000 0.043
2 4.000 0.00173 49.997 0.346
3 2.000 0.00072 49.972 0.072
4 5.000 0.031
5 2.000 0.00044 49.734 0.044
6 4.000 0.00042 49.519 0.084
>S 0.619 m

FORUMS8




- 19 -

No. H(m) mv(m*/kN) PO+A P-P* (kN/m*) (m
1 1.000 0.00085 100.000 0.085
2 4.000 0.00173 99.990 0.692
3 2.000 0.00072 99.922 0.144
4 5.000 0.049
2.000 0.00044 99.259 0.088
6 4.000 0.00042 98.676 0.167
>S 1.225 m
No. H(m) mv(m’/kN) | PO+A P-P" (kN/m?) m
1 1.000 0.00085 150.000 0.128
2 4.000 0.00173 149.976 1.038
2.000 0.00072 149.815 0.216
4 5.000 0.062
5 2.000 0.00044 148.297 0.132
6 4.000 0.00042 147.016 0.249
>S 1.825 m
No. H(m) mv(m’/kN) | PO+A P-P* (kN/m*) (m)
1 1.000 0.00085 200.000 0.171
2 4.000 0.00173 199.937 1.384
3 2.000 0.00072 199.519 0.288
4 5.000 0.079
5 2.000 0.00044 195.943 0.174
6 4.000 0.00042 193.184 0.327
S 2,422 m

FORUMS8




- 20 -

5
No. H(m) mv(m*/kN) PO+A P-P* (kN/m*) (m
1 1.000 0.00085 249.999 0.213
2 4.000 0.00173 249.736 1.728
3 2.000 0.00072 248.167 0.358
4 5.000 0.093
2.000 0.00044 238.378 0.212
6 4.000 0.00042 232.448 0.393
2 S 2.997 m
(4)Cc
Ce -1 PO + AP
= ‘He log— =0
1+ e0 8 ’
P* PO qO
1
1 PO + AP
No. H(m) Cc e0 O8I (m)
1 1.000 1.0000 2.5700 0.90006 0.252
2 4.000 1.0000 4.5104 0.56007 0.407
3 2.000 1.0000 1.9947 0.43698 0.292
4 5.000 0.5591 0.031
5 2.000 1.0000 1.2873 0.20749 0.181
6 4.000 1.0000 1.4778 0.17299 0.279
2 S 1.442 m
2
1 PO + AP
No. H(m) Cc e0 O8I (m)
1 1.000 1.0000 2.5700 1.17286 0.329
2 4.000 1.0000 4.5104 0.79676 0.578
3 2.000 1.0000 1.9947 0.65026 0.434
4 5.000 0.5591 0.049
2.000 1.0000 1.2873 0.34682 0.303
6 4.000 1.0000 1.4778 0.29558 0.477
2 S 2.171 m

FORUMS8
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PO + AP
No. H(m) Cc e0 RO ()
1 1.000 1.0000 2.5700 1.33912 0.375
2 4.000 1.0000 4.5104 0.94907 0.689
3 2.000 1.0000 1.9947 0.79252 0.529
4 5.000 0.5591 0.062
2.000 1.0000 1.2873 0.45122 0.395
6 4.000 1.0000 1.4778 0.38965 0.629
2 S 2.679 m
PO + AP
No. H(m) Cc e0 BT T ()
1 1.000 1.0000 2.5700 1.45906 0.409
2 4.000 1.0000 4.5104 1.06157 0.771
3 2.000 1.0000 1.9947 0.89915 0.600
4 5.000 0.5591 0.079
5 2.000 1.0000 1.2873 0.53315 0.466
6 4.000 1.0000 1.4778 0.46373 0.749
2 S 3.074 m
logy oyt &P
No. H(m) Cc e0 P’ (m)
1 1.000 1.0000 2.5700 1.55294 0.435
2 4.000 1.0000 4.5104 1.15057 0.835
3 2.000 1.0000 1.9947 0.98304 0.657
4 5.000 0.5591 0.093
2.000 1.0000 1.2873 0.59502 0.520
6 4.000 1.0000 1.4778 0.51811 0.836
2 S 3.376 m

FORUMS8
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2.2
2.2.1
1
O _
2 |
(m) (1)
E— Neik
""""""""""""""""""" Mv &
**************** Cec 1=
2
e S N
e
(m) (1)
E— Neik
""""""""""""""""""" Mv &
**************** Cec 1=

FORUMS8
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3
O _
T e
(m) (1)
Neik
""""""""""""""""""" Mv &
**************** Cec 1=
4
// L
0o 4 —_— b N
2 -
(m) (1)
Neik
""""""""""""""""""" Mv &
**************** Cec 1=

FORUMS8
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5
/
8 W
E— Neik
""""""""""""""""""" Mv &
**************** Cc 15

FORUMS8
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2.2.2

FORUM8
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3
1
Lx = 30.000 (m)
e
3.1 Cv
PO (kN/m?)
: (kN/m?)
P P XE+AP)
(KN/m?) (A P":PO+A P-P*,P":PO q0
Cv m7 )
1
POCKN/T?) | P(kN/m) | PCKN/m?) | Cv(/ )
1 7.200 50.000 20.294 0.008640
2 19.000 49.997 36.207 0.004320
3 28.800 49.972 47.630 0.017190
81.200 49.734 103.111 0.008640
6 101.200 49.519 123.502 0.025920
2
POCKN/TY) | P(KN/m?) | P(KN/m?D) | Cv(mi/ )
1 7.200 100.000 27.782 0.008640
2 19.000 99.990 47.548 0.004320
3 28.800 99.922 60.887 0.017190
5 81.200 99.259 121.051 0.008640
6 101.200 98.676 142.223 0.025920
3
POCKN/m?) | P(KN/m?) | PCKN/m?) | Cv(m/ )
1 7.200 150.000 33.643 0.008640
2 19.000 149.976 56.662 0.004320
3 28.800 149.815 71.722 0.017190
5 81.200 148.297 136.511 0.008640
6 101.200 147.016 158.491 0.025920

FORUMS8




- 27 -

4
PO(KN/) P(KN/m?) | P(KN/?) | Cv(m/ )
1 7.200 200.000 38.624 0.008640
2 19.000 199.937 64.497 0.004320
3 28.800 199.519 81.090 0.017190
5 81.200 195.943 150.013 0.008640
6 101.200 193.184 172.603 0.025920
5
PO(KN/m?) P(KN/m?) | P(kN/m?) | cv(m/ )
1 7.200 249.999 43.033 0.008640
2 19.000 249.736 71.456 0.004320
3 28.800 248.167 89.312 0.017190
5 81.200 238.378 161.089 0.008640
6 101.200 232.448 183.753 0.025920
Cv
cv(n/ )
1 2 3 4 5
i 0.017190 0.017190 0.017190 0.017190 0.017190
ii 0.025920 0.025920 0.025920 0.025920 0.025920
D
D(m)
1 2 3 4 5
i 5.695 5.695 5.695 5.695 5.695
il 3.732 3.732 3.732 3.732 3.732
3.2
%
IWTHFE t = — - Tv
Cv
D : (m)
Cv : m/ )
U
Tv :
t ()
S (m)
CT1: 0 CT2: 0 CT3: 0 CT4: 0 CT5:
LT1: 100 LT2: 200 LT3: 300 LT4: 400

FORUMS8
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1
U 0.1 .2 .3 0.4 .5 0.6 0.7 0.8 0.9 1.0
Tv 0.008 .031 .071 ] 0.126 .197 | 0.287 | 0.403 | 0.567 | 0.848 | ——
t( ) 15 58 134 238 372 541 760 1070 1600 | —
S(m) 0.031 .062 .093 | 0.123 154 | 0.185| 0.216 | 0.247 | 0.278 | 0.308
U 0.1 .2 .3 0.4 .5 0.6 0.7 0.8 0.9 1.0
Tv 0.008 .031 .071 ] 0.126 .197 | 0.287 | 0.403 | 0.567 | 0.848 | ——
t( ) 4 17 38 68 106 154 217 305 456 | ——
S(m) 0.017 .034 .051 | 0.068 .085 | 0.102 | 0.119 | 0.136 | 0.153 | 0.170
2
U 0.1 .2 .3 0.4 .5 0.6 0.7 0.8 0.9 1.0
Tv 0.008 .031 .071 | 0.126 2197 | 0.287 | 0.403 | 0.567 | 0.848 | —
t( ) 115 158 234 338 472 641 860 1170 1700 | ——
S(m) 0.067 .135 .202 | 0.270 .337 | 0.405| 0.472 | 0.540 | 0.607 | 0.674
U 0.1 .2 .3 0.4 .5 0.6 0.7 0.8 0.9 1.0
Tv 0.008 .031 .071 | 0.126 2197 | 0.287 | 0.403 | 0.567 | 0.848 | —
t ) 104 117 138 168 206 254 317 405 556 | —
S(m) 0.011 .021 .032 | 0.042 .053 | 0.063 | 0.074| 0.085 | 0.095| 0.106
3
U 0.1 .2 .3 0.4 .5 0.6 0.7 0.8 0.9 1.0
Tv 0.008 .031 .071 ] 0.126 .197 | 0.287 | 0.403 | 0.567 | 0.848 | —
t( ) 315 358 434 538 672 841 1060 1370 1900 | ——
S(m) 0.045 .089 .134 | 0.178 .223 | 0.268 | 0.312| 0.357 | 0.401 | 0.446
U 0.1 .2 .3 0.4 .5 0.6 0.7 0.8 0.9 1.0
Tv 0.008 .031 .071 | 0.126 2197 | 0.287 | 0.403 | 0.567 | 0.848 | ——
t( ) 304 317 338 368 406 454 517 605 756 | ——
S(m) 0.008 .016 .023 | 0.031 .039 | 0.047 | 0.055| 0.063 | 0.070 | 0.078
4
U 0.1 .2 .3 0.4 .5 0.6 0.7 0.8 0.9 1.0
Tv 0.008 .031 .071 | 0.126 2197 | 0.287 | 0.403 | 0.567 | 0.848 | —
t( ) 615 658 734 838 972 1141 1360 1670 2200 | ——
S(m) 0.027 .053 .080 | 0.106 2133 | 0.159 | 0.186 | 0.212 | 0.239 | 0.265

FORUMS8




- 29 -

U 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0
Tv 0.008 | 0.031| 0.071| 0.126 | 0.197 | 0.287 | 0.403 | 0.567 | 0.848 | —
t( ) 604 617 638 668 706 754 817 905 1056 | —
S(m) 0.009 | 0.017 | 0.026 | 0.035 | 0.044 | 0.052 | 0.061 | 0.070 | 0.078 | 0.087
5
i
U 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0
Tv 0.008 | 0.031 | 0.071| 0.126 | 0.197 | 0.287 | 0.403 | 0.567 | 0.848 | ——
t( ) 1015 1058 1134 1238 1372 1541 1760 2070 2600 | —
S(m) 0.014 | 0.028 | 0.041 | 0.055| 0.069 | 0.083 | 0.097 | 0.110 | 0.124 | 0.138
ii
U 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0
Tv 0.008 | 0.031| 0.071| 0.126 | 0.197 | 0.287 | 0.403 | 0.567 | 0.848 | ——
t(C ) 1004 1017 1038 1068 1106 1154 1217 1305 1456 | —
S(m) 0.007 | 0.013 | 0.020 | 0.026 | 0.033 | 0.039 | 0.046 | 0.052 | 0.059 | 0.065

FORUMS8
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1 .
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2.0 +1
(m)

Sg =

2.431 m

ii

FORUMS8
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3.4

% H E
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—
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—

ii

FORUMS8
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